
2-Digit by 1-DigitName:

Solve using partial products.

Example
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Partial Product Multiplication

53
× 3

48
× 3

= 3 × 8
+

+

26
× 7

41
× 9 

a. b. c.

38
× 5

17
× 8

62
× 4

d. e. f.

48
× 3

= 3 × 8
= 3 × 40+

48
× 3

= 3 × 842 42
021 021

441
= 3 × 40+

48
× 3

= 3 × 8
= 3 × 40+

+ +

+ + +

95
× 2

72
× 6

83
× 5

g. h. i.

+ + +
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= 3 × 3

= 3 × 50

9
1 5 0
1 5 9

= 7 × 6

= 7 × 20

4 2
1 4 0
1 8 2

= 9 × 1

= 9 × 40

9
3 6 0
3 6 9

= 5 × 8

= 5 × 30

4 0
1 5 0
1 9 0

= 8 × 7

= 8 × 10

5 6
8 0

1 3 6

= 4 × 2

= 4 × 60

8
2 4 0
2 4 8

= 2 × 5

= 2 × 90

1 0
1 8 0
1 9 0

= 6 × 2

= 6 × 70

1 2
4 2 0
4 3 2

= 5 × 3

= 5 × 80

1 5
4 0 0
4 1 5

ANSWER KEY


